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Á’uiqfLrdk esa dksbZ deh gks] rks d{k fujh{kd dks fn[kkdj mlh lhjht dh nwljh Á’uiqfLrdk ÁkIr dj ysaA 

Paper Code 
6 1 9 
(To be filled in the  

OMR Sheet) 

Á’uiqfLrdk Øekad 
Question Booklet No. 

Á’uiqfLrdk lhjht 
Question Booklet Series 

D 
O.M.R. Serial No.         

 

tc rd dgk u tk;] bl Á’uiqfLrdk dks u [kksysa 

61
9 



Series-D M.Lib - ML-102/ 619 Page - 2 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



Series-D M.Lib - ML-102/ 619 Page - 3 

1. What does the Z39.50 Standard 

belong to? 

(A) Web 2.0 

(B) Library Network 

(C) Digital Preservation 

(D) Information Retrieval 

 1.  Z39.50 ekud fdlls lacafèkr gS\ 

(A) osc 2-0 

(B) iqLrdky; usVodZ 

(C) fMftVy laj{k.k 

(D) lwpuk iquçkZfIr 

2. FRBR is developed by : 

(A) IFLA 

(B) LC 

(C) UNESCO 

(D) FID 

 2. ,Q vkj ch vkj  fdlds fodflr fd;k 

x;k % 

(A) b¶yk  

(B) ,y lh  

(C) ;wusLdks 

(D) ,Q vkbZ Mh 
3. In MARC Format 0XX coded 

fields denote: 

(A) Subject Headings 

(B) Author 

(C) Control Information 

(D) Title 

 3. ekdZ çk:i esa 0XX dksfMr Q+hYM fu:fir 

djrs gSa % 

(A) fo"k; 'kh"kZd 

(B) ys[kd 

(C) fu;a=.k lwpuk 

(D) 'kh"kZd 

4. Data about the data is known as: 

(A) Micro Data 

(B) Metadata 

(C) Database 

(D) Databank 

 4. MsVk ds ckjs esa MsVk _________tkuk tkrk 

gSA 

(A) ekbØks MsVk 

(B) esVkMkVk 

(C) MsVkcsl 

(D) MsVk cSad 
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5. In MARC 21 the subject access 

field is _________. 

(A) 3XX 

(B) 4XX 

(C) 5XX 

(D) 6XX 

 5. ekdZ 21 esa lCtsDV ,Dlsl QhYM 

_________gSA 

(A) 3XX 

(B) 4XX 

(C) 5XX 

(D) 6XX 

6. The simple Dublin Core Metadata 

Element Set (DCMES) consists of 

(A) 10 elements 

(B) 12 elements 

(C) 14 elements 

(D) 15 elements 

 6. lkèkkj.k Mcfyu dksj esVkMsVk ,fyesaV lsV 

(DCMES) esa 'kkfey gSa 

(A) 10 rRo 

(B) 12 rRo 

(C) 14 rRo 

(D) 15 rRo 

7. Dublin core is: 

(A) Collection of metadata 

 elements 

(B) Network for the city of 

 Dublin 

(C) A set of core activities of a 

 National library 

 7. Mcfyu dksj gS % 

(A) esVkMsVk rRoksa dk laxzg 

(B) Mcfyu 'kgj ds fy, usVodZ 

(C) jk"Vªh; iqLrdky; dh eq[; 

 xfrfofèk;ksa dk ,d leqPp;  

(D) ekdZ dk la'kksfèkr laLdj.k 
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8. OCLC Project, MARC Project are 
the examples of: 
(A) Co-operative storage of 
 materials 
(B) Co-operative processing of 
 materials 
(C) Co-operative acquisition of 
 materials 
(D) Co-operative sharing of 

materials 

 8. vkslh,ylh ifj;kstuk] ekdZ ifj;kstuk blds 

mnkgj.k gSa % 

(A) lkexzh dk lgdkjh HkaMkj.k 

(B) lkexzh dk lgdkjh çlaLdj.k 

(C) lkexzh dk lgdkjh vfèkxzg.k 

(D) lkexzh dk lgdkjh lk>kdj.k 

9. The structure of CCF is based 
on____________. 
(A) ISO-2709 
(B) ISO-2000 
(C) ISO-99 
(D) None of the above 

 9. lhlh,Q dh lajpuk ____________ij 

vkèkkfjr gSA 

(A) vkbZ,lvks 2709 

(B) vkbZ,lvks&2000 

(C) vkbZ,lvks&99 

(D) bues ls dksbZ Hkh ugha 

10. What was the name of the first 
bibliographic standard developed 
in 1974 for description of 
monographs? 
(A) ISBD 
(B) ISBD (G) 
(C) ISBD (M) 
(D) ISBD (AV) 

 10. eksuksxzkQ ds fooj.k ds fy, 1974 esa 

fodflr igys xzaFk lwph ekud dk uke D;k 

Fkk\ 

(A) vkbZ,lchMh 

(B) vkbZ,lchMh ¼th½ 

(C) vkbZ,lchMh ¼,e½ 

(D) vkbZ,lchMh ¼,oh½ 

11. What is the full form of ISBD? 

(A) Indian System for 

 Bibliographic Description 

(B) Indian Standard for Books 

 and other Documents 

(C) Indian Standard for 

 Bibliographical Details 

(D) International Standard for 

Bibliographical Description 

 11. vkbZ,lchMh dk iw.kZ :i D;k gS\ 

(A) xzaFk lwph fooj.k ds fy, Hkkjrh; 

 ç.kkyh 

(B) iqLrdksa vkSj vU; nLrkostksa ds fy, 

 Hkkjrh; ekud 

(C) xzaFk lwph fooj.k ds fy, Hkkjrh; 

 ekud 

(D) xzaFk lwph fooj.k ds fy, varjkZ"Vªh; 

ekud 
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12. Which of the following standards 

is recognised internationally to 

give bibliographic information of 

the documents regarding the 

cataloguing? 

(A) ISBN 

(B) ISSM 

(C) ISDS 

(D) ISBD 

 12. dSVy‚fxax ds lacaèk esa nLrkostksa dh xzaFk 

lwph lacaèkh tkudkjh nsus ds fy, 

fuEufyf[kr esa ls dkSu lk ekud varjkZ"Vªh; 

Lrj ij ekU;rk çkIr gS\ 

(A) vkbZ,lch,u 

(B) vkbZ ,l ,l ,e 

(C) vkbZ,lMh,l 

(D) vkbZ,lchMh 

13. When was MARC-II developed? 

(A) 1966 

(B) 1968 

(C) 1967 

(D) 1969 

 13. ekdZ&f}rh; dks dc fodflr fd;k x;k 

Fkk\ 

(A) 1966 

(B) 1968 

(C) 1967 

(D) 1969 

14. Which element is the final 

character of each record in ISO-

2709 format? 

(A) Record separator 

(B) Data fields 

(C) Directory 

(D) Record level 

 14. ISO-2709 çk:i esa çR;sd fjd‚MZ dk 

vafre o.kZ dkSu lk rRo gS\ 

(A) fjd‚MZ foHkktd 

(B) MsVk Q+hYM 

(C) funZsf'kdk 

¼(D) fjd‚MZ Lrj 

15. The structure of ISO-2709 format 

consists of the following elements? 

(A) Record label 

(B) Directory 

(C) Data fields & record 

 separator 

(D) All of these 

 15. ISO-2709 çk:i dh lajpuk esa 

fuEufyf[kr rRo gksrs gSa\ 

(A) fjd‚MZ yscy 

(B) funZsf'kdk 

(C) MsVk Q+hYM vkSj fjd‚MZ foHkktd 

(D) ;s lHkh 
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16. Which one is an international 

standard format for bibliographic 

information exchange on magnetic 

tape? 

(A) CCF 

(B) MARC 

(C) ISO-2709 

(D) ISO-7232 

 16. pqacdh; Vsi ij xzaFk lwph lacaèkh lwpuk ds 

vknku&çnku ds fy, dkSu lk varjkZ"Vªh; 

ekud çk:i gS\ 

(A) lhlh,Q 

(B) ekdZ 

(C) vkbZ,lvks 2709 

(D) vkbZ,lvks&7232 

17. ISBDs are brought out by: 

(A) ALA 

(B) IFLA 

(C) UNESCO 

(D) LA 

 17. vkbZ ,l ch Mh  fdlds }kjk fudkys tkrs gSa 

(A) , ,y ,  

(B) b¶yk  

(C) ;wusLdks 

(D) ,y , 

18. In ISBD (G) the alphabet (G) 

stands for: 

(A) Graphs 

(B) Geographical 

(C) General 

(D) Geometrical 

 18. vkbZ,lchMh ¼th½ esa o.kZekyk ¼th½ dk vFkZ 

gS% 

(A) xzk¶l  

(B) T;ksxzkfQdy  

(C) tujy  

(D) tksesfVªdy 

19. ISBD (M) is associated with 

bibliographic description of: 

(A) Maps 

(B) Monograms 

(C) Motion pictures 

(D) Monographs 

 19. vkbZ,lchMh ¼,e½ xzaFk lwph fooj.k ds lkFk 

tqM+k gqvk gS % 

(A) ekufp= 

(B) eksuksxzke 

(C) eks'ku fiDplZ 

(D) eksuksxzkQ 
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20. ISBD divides elements in a 

bibliographic description into: 

(A) 7 areas 

(B) 8 areas 

(C) 17 areas 

(D) 18 areas 

 20. vkbZ,lchMh ,d xzaFk lwph fooj.k esa rRoksa 

dks foHkkftr djrk gS % 

(A) 7 {ks= 

(B) 8 {ks= 

(C) 17 {ks= 

(D) 18 {ks= 

21. MARC stands for: 

(A) Machine Readable Cataloging 

(B) Machine Readable Catalogue 

(C) Machine reading Catalogue 

(D) None of these 

 21. ekdZ dk foLrkj gS % 

(A) e'khu jhMscy dSVy‚fxax 

(B) e'khu jhMscy dSVy‚x 

(C) e'khu jhfMax dSVy‚x 

(D) buesa ls dksbZ ugha 

22. A MARC record consists of 

__________ main sections. 

(A) Four 

(B) Eight 

(C) Six 

(D) Three 

 22. ,d ekdZ fjd‚MZ esa__________ eq[; Hkkx 

gksrs gSaA 

(A) pkj 

(B) vkB 

(C) Ng 

(D) rhu 

23. CCF stands for: 

(A) Common Communication 

 Format 

(B) Center for communication 

 format 

(C) Committee for communication 

 format 

(D) None of these 

 23. lhlh,Q dk foLrkj gS % 

(A) d‚eu dE;qfuds'ku Q‚eZsV   

(B) lsaVj v‚Q+ dE;qfuds'ku Q‚eZsV 

(C) dfeVh Q‚j dE;qfuds'ku Q‚eZsV 

(D) buesa ls dksbZ ugha 
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24. In MARC-21 the tag number for 

edition statement is: 

(A) 245 

(B) 260 

(C) 250 

(D) 300 

 24. ekdZ&21 esa laLdj.k fooj.k ds fy, VSx 

la[;k gS % 

(A) 245 

(B) 260 

(C) 250 

(D) 300 

25. Library of Congress started 

MARC project in: 

(A) 1978 

(B) 1966 

(C) 1867 

(D) 1903 

 25. ykbczsjh v‚Q+ dk¡xzsl us ekdZ ifj;kstuk 'kq: 

dh % 

(A) 1978 

(B) 1966 

(C) 1867 

(D) 1903 

26. Which of the following are 

components of IR Model? 

(A) Crawling  

(B) Indexing  

(C) Query  

(D) All options are correct 

 26. fuEufyf[kr esa ls dkSu IR e‚My ds ?kVd 

gSa \ 

(A) Ø‚fyax 

(B) baMsfDlax 

(C) Dosjh  

(D) lHkh fodYi lgh gSa 

27. The proportion of non-relevant 

documents that are retrieved, out 

of all non-relevant documents is 

nothing but: 

(A) Precision  

(B) Recall  

(C) Fall-out  

(D) F-measure 

 27. lHkh xSj&çklafxd nLrkostksa esa ls çkIr 

xSj&çklafxd nLrkostksa dk vuqikr vkSj dqN 

ugha gS% 

(A) ifj'kq)rk 

(B) çR;kgoku  

(C) Q‚y vkmV  

(D) ,Q&eki 
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28. How can the information retrieval 

problem be defined formally? 

(A) A triple 

(B) A couple 

(C) A quadruple 

(D) None of the above 

 28. lwpuk iquçkZfIr leL;k dks vkSipkfjd :i 

ls dSls ifjHkkf"kr fd;k tk ldrk gS\ 

(A) ,d frxquh  

(B) ,d tksM+h 

(C) ,d pkSxquh 

(D) mijksä esa ls dksbZ ugha 

29. In thesaurus-based query expansion 

technique, for every term t in a 

query, we expand the query using 

the synonyms and related words of t 

taken from the thesaurus. This can 

increase_________. 

(A) Precision 

(B) Recall 

(C) Performance 

(D) Average precision 

 29. fFkl‚jl&vkèkkfjr Dosjh foLrkj rduhd esa] 

fdlh Dosjh esa çR;sd 'kCn t ds fy,] ge 

i;kZ;okph 'kCn vkSj fFkl‚jl ls fy, x, t 

ds lacafèkr 'kCnksa dk mi;ksx djds Dosjh dk 

foLrkj djrs gSaA ;g_________c<+k ldrk 

gSA 

(A) ifj'kq)rk 

(B) çR;kgoku  

(C) dk;Z fu"iknu  

(D) vkSlr ifj'kq)rk 

30. Which of the following is/are 

classical IR models? 

(i)  Vector model  

(ii)  Boolean model  

(iii)  Interaction model  

(iv)  Cluster model 

(A) (ii) and (iv) 

(B) (i),(ii),(iii)and (iv) 

(C) (i) and (ii) 

(D) (i) and (iv) 

 30. fuEufyf[kr esa ls dkSu&lk@ls Dykfldy 

IR e‚My gS@gSa\ 

(i) osDVj e‚My  

(ii) cwfy;u e‚My  

(iii) baVjsD'ku e‚My  

(iv) DyLVj e‚My 

(A) (ii) vkSj (iv) 

(B) (i),(ii),(iii) vkSj (iv) 

(C) (i) vkSj (ii) 

(D) (i)vkSj (iv) 
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31. Which of the following techniques 

tries to improve recall of an 

information retrieval system by 

adding synonyms to the query? 

(A) Query expansion 

(B) Relevance feedback 

(C) Pseudo relevance feedback 

(D) None of the above 

 31. fuEu esa ls dkSu lh rduhd Dosjh esa 

lekukFkZd 'kCn tksM+dj lwpuk iquçkZfIr 

ç.kkyh dh ;kn esa lqèkkj djus dk ç;kl 

djrh gS\ 

(A) Dosjh foLrkj  

(B) çklafxdrk çfrfØ;k 

(C) Nn~e çklafxdrk çfrfØ;k 

(D) mijksä esa ls dksbZ ugha 

32. In the Vector Space Model the 

dimensions represent: 

(A) Word in the documents 

(B) All the unique words in the 

 corpus 

(C) Homonyms in the documents 

(D) Synonyms in the documents 

 32. osDVj Lisl e‚My esa vk;ke çfrfufèkRo 

djrs gSa % 

(A) çys[kksa esa 'kCn 

(B) laxzg esa lHkh vf}rh; 'kCn 

(C) çys[kksa esa lekukFkÊ 'kCn 

(D) çys[kksa esa lekukFkZd 'kCn 

33. For a query, a retrieval system 

retrieves 42 relevant documents 

and 34 irrelevant documents from 

a document collection that consists 

of 95 relevant documents. What is 

the precision of the retrieval 

system? 

(A) 0.40 

(B) 0.50 

(C) 0.62 

(D) 0.55 

 33. ,d ç'u ds fy,] ,d iquçkZfIr ç.kkyh ,d 

nLrkost+ laxzg ls 42 çklafxd nLrkost+ vkSj 

34 vçklafxd nLrkost+ iquçkZIr djrh gS 

ftlesa 95 çklafxd nLrkost+ gksrs gSaA 

iquçkZfIr ç.kkyh dh 'kq)rk D;k gS\ 

(A) 0.40 

(B) 0.50 

(C) 0.62 

(D) 0.55 
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34. What is the disadvantage of the 

Boolean retrieval model? 

(A) Easy to implement 

(B) Difficult to process a query 

(C) Difficult to rank output 

(D) It is one of the complex 

retrieval models 

 34. cwfy;u iquçkZfIr e‚My dk uqdlku D;k gS\ 

(A) ykxw djus esa vklku 

(B) ,d ç'u dks lalkfèkr djuk eqf'dy 

(C) vkmViqV jSad djuk eqf'dy 

(D) ;g tfVy iquçkZfIr e‚My esa ls ,d 

gS 

35. Information retrieval systems have 

much common with: 

(A) Filing system 

(B) Transaction system  

(C) Database system 

(D) Management system 

 35. lwpuk iquçkZfIr ç.kkyh________ds lkFk 

cgqr vke gSA 

(A) Qkbfyax flLVe  

(B) ysu&nsu flLVe  

(C) MsVkcsl flLVe  

(D) çcaèk flLVe 

36. Which of the following is true 

about Stemming? 

(A) It increases the recall and 

 reduces the precision 

(B) It increases the precision and 

 reduces the recall 

(C) Recall and precision are 

 equal if you use stemming 

(D) None of the above 

 36. LVsfeax ds ckjs esa fuEufyf[kr esa ls dkSu lk 

lR; gS\ 

(A) ;g fjd‚y dks c<+krk gS vkSj lVhdrk 

 dks de djrk gS 

(B) ;g lVhdrk c<+krk gS vkSj fjd‚y dks 

 de djrk gS 

(C) ;fn vki LVsfeax dk mi;ksx djrs gSa 

 rks ;kn vkSj ifj'kq)rk cjkcj gksrh gS 

(D) mijksä esa ls dksbZ ugha 
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37. Stemming is a technique used for: 

(A) Tokenization 

(B) Normalization 

(C) Document ranking 

(D) Case folding 

 37. LVsfeax ,d rduhd gS ftldk mi;ksx 

fdlds fy, fd;k tkrk gS % 

(A) Vksdukbts'ku 

(B) lkekU;hdj.k 

(C) çys[k jSafdax 

(D) dsl QksfYMax 

38. Unstructured data tends to refer to 

information on the web and is 

processed using: 

(A) IR systems 

(B) Database systems 

(C) Both 

(D) None 

 38. vlajfpr MsVk osc ij tkudkjh dks lanfHkZr 

djrk gS vkSj bldk mi;ksx djds lalkfèkr 

fd;k tkrk gS % 

(A) vkbZvkj flLVe 

(B) MsVkcsl flLVe 

(C) nksuksa 

(D) dksbZ ugha 

39. The goal of Information Retrieval 

is to: 

(A) Find documents relevant to 

 an information need 

(B) Find documents relevant to 

 an information need from a 

 given document set 

(C) Find documents relevant to 

 an information need from a 

 large document set 

(D) Find documents relevant to 

an information need from a 

small document set 

 39. lwpuk iquçkZfIr dk y{; gS % 

(A) lwpuk dh t:jr ds fy, çklafxd 

 nLrkost [kkstsa 

(B) fdlh fn, x, nLrkost+ lsV ls fdlh 

 tkudkjh dh vko';drk ds fy, 

 çklafxd nLrkost+ [kkstsa 

(C) ,d cM+s nLrkost+ lsV ls tkudkjh dh 

 vko';drk ds fy, çklafxd nLrkost+ 

 [kkstsa 

(D) ,d NksVs ls nLrkost+ lsV ls 

vko';d tkudkjh ds fy, çklafxd 

nLrkost+ <w¡<+s 
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40. Boolean retrieval model does not 

provide provision for: 

(A) Ranked search 

(B) Proximity search 

(C) Phrase search 

(D) Both proximity and ranked 

search 

 40. cwfy;u iquçkZfIr e‚My_________ds fy, 

çkoèkku çnku ugha djrk gSA 

(A) Js.khc) [kkst 

(B) fudVrk [kkst 

(C) okD;ka'k [kkst 

(D) nksuksa fudVrk vkSj Js.khc) [kkst 

41. Term document incidence matrix 

is: 

(A) Sparse 

(B) Depends upon the data 

(C) Dense 

(D) Cannot predict 

 41. VeZ çys[k balhMsal eSfVªDl gS % 

(A) fojy 

(B) MsVk ij fuHkZj djrk gS 

(C) ?kus 

(D) Hkfo";ok.kh ugha dj ldrk 

42. The vocabulary size (unique 

words) of a text can be estimated 

using: 

(A) Zipf’s law 

(B) Scientific law 

(C) Heaps’ law 

(D) Inverted index rule 

 42. fdlh ikB ds 'kCnkoyh vkdkj ¼vf}rh; 

'kCn½ dk vuqeku yxk;k tk ldrk gS% 

(A) ft+IQ y‚  

(B) lkbafVfQd y‚  

(C) gSIl y‚  

(D) foi;ZLr baMsDl fu;e 

43. Which of the following is the local 

method for improving recall of an 

information retrieval system? 

(A) Query expansion 

(B) Relevance feedback 

(C) Ontology based model 

(D) None of the above 

 43. lwpuk iquçkZfIr ç.kkyh dh ;kn esa lqèkkj ds 

fy, fuEufyf[kr esa ls dkSu lh LFkkuh; 

fofèk gS\ 

(A) Dosjh foLrkj  

(B) çklafxdrk çfrfØ;k 

(C) vksUVksy‚th vkèkkfjr e‚My 

(D) mijksä esa ls dksbZ ugha 
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44. Who coined the phrase 

“Information Retrieval”? 

(A) Calvin Mooers 

(B) S. R. Ranganathan 

(C) J.D. Brown 

(D) H.P. Luhn 

 44. Þlwpuk iquçkZfIrß okD;ka'k fdlus x<+k\ 

(A) dsfYou ew;lZ 

(B) ,l- vkj- jaxukFku 

(C) ts-Mh- czkmu 

(D) ,p- ih-  yqà 

45. Who is the propounder of the term 

“Information Transfer”? 

(A) S.R. Ranganathan 

(B) J. Martin 

(C) Beesman 

(D) Calvin Mooers 

 45. ^^lwpuk gLrkarj.k** 'kCn ds çfriknd dkSu 

gSa\ 

(A) ,l-vkj- jaxukFku 

(B) ts ekfVZu 

(C) chleSu 

(D) dsfYou  ew;lZ 

46. Entropy is measure of: 

(A) Quantity of irrelevant 

 information 

(B) Degree of relevance of 

 information 

(C) Degree of certainly in 

 information 

(D) Degree of uncertainty in 

information 

 46. ,UVª‚ih dk eki gS % 

(A) vçklafxd tkudkjh dh ifj.kke  

(B) lwpuk dh çklafxdrk dh fMxzh   

(C) tkudkjh esa fuf'pr :i ls fMxzh  

(D) lwpuk esa vfuf'prrk dh fMxzh 

47. The quotation “Where is Wisdom, 

We Lost in Knowledge….” is by? 

(A) M.P. Carter 

(B) John Keats 

(C) T.S. Eliot 

(D) Marshall McLuhan 

 47. ;g m)j.k fdlus fn;k gS ^^cqf) dgk¡ gS] 

ge Kku esa [kks x,----------**\ 

(A) ,e-ih- dkVZj  

(B) t‚u dhV~l 

(C) Vh-,l- ,fy;V 

(D) ek'kZy eSDyqgku 
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48. A sequence of actions which 

results in obtaining required 

information is called: 

(A) Retrieval system 

(B) Retrieval code 

(C) Retrieval program 

(D) Retrieval device 

 48. fØ;kvksa dk ,d Øe ftlds ifj.kkeLo:i 

vko';d tkudkjh çkIr gksrh gS] dgykrh gS% 

(A) iquçkZfIr ç.kkyh 

(B) iquçkZfIr dksM 

(C) iquçkZfIr dk;ZØe 

(D) iquçkZfIr midj.k 

49. Which one is the real process of 

gaining knowledge? 

(A) Information → knowledge → 

 data 

(B) Data → information → 

 knowledge 

(C) Information → data → 

 knowledge 

(D) Data → knowledge → 

information 

 49. Kku çkIr djus dh okLrfod çfØ;k dkSu 

lh gS\ 

(A) lwpuk → Kku → MsVk  

(B) MsVk → lwpuk → Kku 

(C) lwpuk → MsVk → Kku 

(D) MsVk → Kku → lwpuk 

50. “Precision ratio” is a term used in: 

(A) Evaluation of indexing 

 system 

(B) Indexing system 

(C) Information storage devices 

(D) None of these 

 

 50. ^^ifj'kq)rk vuqikr** ,d 'kCn gS ftldk 

ç;ksx fd;k tkrk gS% 

(A) vuqØe.khdj.k  ç.kkyh dk ewY;kadu 

(B) vuqØe.khdj.k  ç.kkyh 

(C) lwpuk HkaMkj.k midj.k 

(D) buesa ls dksbZ ugh 
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51. The concept of connect 

intelligence is derived from: 

(A) Virtual reality 

(B) Fuzzy logic 

(C) Bluetooth technology 

(D) Value added networks 

 51. dusDV baVsfytsal dh voèkkj.kk________ls 

yh xbZ gSA 

(A) vkHkklh okLrfodrk 

(B) ¶;wt+h y‚ftd 

(C) CywVwFk rduhd 

(D) ewY; ,MsM  usVodZ 

52. In web search, finding a large 

number of documents with very 

little relevant information is 

termed: 

(A) Poor recall 

(B) Web crawl 

(C) Poor precision rate 

(D) Poor web response 

 52. osc lpZ esa] cgqr de çklafxd tkudkjh ds 

lkFk cM+h la[;k esa çys[kksa dks [kkstus dks 

dgk tkrk gS % 

(A) [k+jkc çR;kgoku   

(B) osc Ø‚y 

(C) [kjkc ifj'kq)rk nj 

(D) [kjkc osc çfrfØ;k 

53. DNS stand for: 

(A) Dynamic Name System 

(B) Domain Name System 

(C) Distributed Name System 

(D) None of these 

 53. Mh,u,l dk foLrkj gS % 

(A) Mk;ukfed uke flLVe  

(B) Mksesu uke flLVe  

(C) fMLVªC;wVsM uke flLVe  

(D) buesa ls dksbZ ugha 
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54. Which one of the following is not 

a citation searching? 

(A) Google Scholar 

(B) Web of Science 

(C) Scopus 

(D) Scirus 

 54. fuEufyf[kr esa ls dkSu lk lkbVs'ku lpZ 

ugha gS\ 

(A) xwxy Ld‚yj  

(B) osc v‚Q+ lkbal 

(C) Ldksil 

(D) lkbjl 

55. *(Asterisk mark) used for: 

(A) Proximity search 

(B) Truncation search 

(C) Field search 

(D) General search 

 55. * ¼rkjkadu fpà½ ds fy, ç;ksx fd;k tkrk 

gS % 

(A) fudVrk lpZ 

(B) Vªads'ku lpZ 

(C) QhYM lpZ 

(D) lkekU; lpZ 

56. http://www.earthwatch.org this 

URL belongs to: 

(A) Governmental Agency 

(B) Commercial or for profit 

 business 

(C) Non-profit organization 

(D) Educational Institution 

 56. http://www.earthwatch.org;g ;wvkj,y 

lacafèkr gS % 

(A) ljdkjh ,tsalh 

(B) okf.kfT;d ;k ykHk O;olk; ds fy, 

(C) fuykZHk & laxBu 

(D) 'kSf{kd laLFkk 

57. The type of web search tool that 

organized web pages by category 

usually in a hierarchy from broad 

subject to narrow sub-topics is 

called:  

(A) Search engine 

(B) Directory type search engine 

(C) Meta search engine 

(D) Browser 

 57. osc lpZ Vwy] tks osc istksa dks Js.kh ds 

vkèkkj ij O;ofLFkr djrk gS] vkerkSj ij 

O;kid fo"k; ls ladh.kZ mi&fo"k;ksa ds 

inkuqØe esa dgykrk gS % 

(A) lpZ batu 

(B) funZsf'kdk çdkj lpZ batu 

(C) esVk lpZ batu 

(D) czkmt+j 
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58. PubMed is a/an _________. 

(A) Journal 

(B) Encyclopedia 

(C) Database 

(D) Search engine 

 58. icesM ,d _________gSA 

(A) if=dk 

(B) fo’odks'k 

(C) MsVkcsl 

(D) lpZ batu 

59. Boolean logics cannot be used in: 

(A) Pubmed 

(B) NYAM 

(C) VHL 

(D) Google Scholar 

 59. cwfy;u y‚ftDl dk mi;ksx ugha fd;k tk 

ldrk gS % 

(A) icesM 

(B) U;ke 

(C) oh,p,y 

(D) xwxy Ld‚yj 
60. Which of the following will 

produce the best results? 

(A) New york city 

(B) NEW YORK CITY 

(C) New York City 

(D) It doesn't matter, only special 

query keywords are case 

sensitive 

 60. fuEufyf[kr esa ls dkSu lcls vPNk ifj.kke 

nsxk\ 

(A) New york city 

(B) NEW YORK CITY 

(C) New York City 

(D) blls dksbZ QdZ ugha iM+rk] dsoy 

fo'ks"k Dosjh dhoMZ gh dsl lsaflfVo 

gksrs gSaA 

61. Which of the following is the 

correct way to search for an exact 

phrase? 

(A) +new york city 

(B) "new york city" 

(C) (new york city) 

(D) Exact:(new york city) 

 61. fuEufyf[kr esa ls dkSu lk lVhd okD;ka'k 

[kkstus dk lgh rjhdk gS\ 

(A) $U;w;‚dZ 'kgj 

(B) ^^U;w;‚dZ 'kgj** 

(C) ¼U;w;‚dZ 'kgj½ 

(D) lVhd%¼U;w;‚dZ 'kgj½ 
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62. What is a search engine spider? 

(A) Adware and malware 

 downloaded to your 

 computer. 

(B) A program that follows, or 

 "crawls", links throughout 

 the Internet, grabbing content 

 from sites and adding it to 

 search engine indexes. 

(C) A programming error. 

(D) Something that infects your 

computer. 

 62. lpZ batu LikbMj D;k gS\ 

(A) vkids daI;wVj ij MkmuyksM fd;k 

 x;k ,Mos;j vkSj eSyos;jA 

(B) ,d çksxzke tks vuqlj.k djrk gS] ;k 

 ^^Ø‚y**] iwjs baVjusV ls fyad djrk gS] 

 lkbVksa ls lkexzh dks gfFk;kus vkSj bls 

 [kkst batu baMsDl esa tksM+rk gSA 

(C) ,d çksxzkfeax =qfVA 

(D) dqN ,slk tks vkids daI;wVj dks 

laØfer djrk gSA 

63. The first text-based search engine 

was: 

(A) Veronica 

(B) Jughead 

(C) Reggie 

(D) Archie 

 63. igyk VsDLV&vkèkkfjr lpZ batu Fkk % 

(A) osjksfudk 

(B) tqxgsM 

(C) jsxh 

(D) vkpÊ 

64. The first search engine ever 

developed was __________which 

was used to search for FTP files. 

(A) Veronica 

(B) Jughead 

(C) Reggie 

(D) Archie 

 64. vc rd fodflr fd;k x;k igyk lpZ 

batu_____________Fkk ftldk mi;ksx 

,Q+Vhih Qkbyksa dks [kkstus ds fy, fd;k 

tkrk FkkA 

(A) osjksfudk 

(B) tqxgsM  

(C) jsxh 

(D) vkpÊ 
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65. Search Engine definition: 
(A) A software program or script 
 available through the Internet 
 that searches various types of 
 documents for keywords 
(B) A special website available 
 through the Internet that 
 searches various types of 
 documents for keywords 
(C) A spider or crawler available 
 through the Internet that 
 searches various types of 
 documents for keywords 
(D) (A),(B) and (C) are correct!! 

 65. lpZ batu ifjHkk"kk % 
(A) baVjusV ds ekè;e ls miyCèk ,d 
 l‚¶Vos;j çksxzke ;k fLØIV tks dhoMZ 
 ds fy, fofHkUu çdkj ds nLrkostksa dh 
 [kkst djrk gS 
(B) baVjusV ds ekè;e ls miyCèk ,d 
 fo'ks"k osclkbV tks dhoMZ ds fy, 
 fofHkUu çdkj ds nLrkostksa dh [kkst 
 djrh gS 
(C) baVjusV ds ekè;e ls miyCèk ,d 
 edM+h ;k Ø‚yj tks dhoMZ ds fy, 
 fofHkUu çdkj ds nLrkost+ [kkstrk gS 
(D) (A), (B) vkSj (C) lgh gSa !! 

66. What is the hidden Boolean 

operator in a Google search?  

(A) OR 

(B) AND 

(C) NOT 

(D) None of these 

 66. xwxy lpZ esa fNik gqvk cwfy;u v‚ijsVj 

D;k gS\ 

(A) v‚j  

(B) ,aM  

(C) u‚V  

(D) buesa ls dksbZ ugha 

67. You have to write a paper on the 
“treatment of depression”. Which 
search strategy would find the 
least number of documents: 
(A) Depression AND 
 psychotherapy Depression 
 AND psychotherapy 
(B) Depression OR  psychotherapy 
 OR  antidepressants 
(C) Depression AND psychotherapy 
 AND antidepressants 
(D) Depression 

 67. vkidks ^^volkn ds mipkj** ij ,d isij 

fy[kuk gSA fdl [kkst j.kuhfr esa de ls 

de nLrkost+ feysaxs % 

(A) volkn vkSj euksfpfdRlk volkn vkSj 

 euksfpfdRlk 

(B) volkn ;k euksfpfdRlk ;k 

 volknjksèkh nok,a 

(C) volkn vkSj euksfpfdRlk vkSj 

 volknjksèkh 

(D) volkn 
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68. If you have searched using your 

topic keywords and you aren’t 

retrieving many results, what 

should you always do? 

(A) Use synonyms for your 

 search terms 

(B) Use a different database 

(C) Use only the results you've 

 retrieved 

(D) Don't know 

 68. ;fn vkius vius fo"k; dhoMZ dk mi;ksx 

djds [kkst dh gS vkSj vkidks dbZ ifj.kke 

çkIr ugha gks jgs gSa] rks vkidks ges'kk D;k 

djuk pkfg,\ 

(A) vius [kkst 'kCnksa ds fy, lekukFkZd 

 'kCn dk ç;ksx djsa 

(B) ,d vyx MsVkcsl dk ç;ksx djsa 

(C) dsoy mUgha ifj.kkeksa dk mi;ksx djsa 

 ftUgsa vkius iqu% çkIr fd;k gS 

(D) irk ugha 

69. When conducting a 
systematic/literature review what 
is it important to do? 
(A) Use a different search 
 strategy for each database 
(B) Use the same strategy for 
 each database 
(C) Only use one database 
(D) Don't use a strategy 

 69. ,d O;ofLFkr@lkfgR; leh{kk djrs le; 

D;k djuk egRoiw.kZ gS\ 

(A) çR;sd MsVkcsl ds fy, ,d vyx 

 [kkst j.kuhfr dk ç;ksx djsa 

(B) çR;sd MsVkcsl ds fy, leku j.kuhfr 

 dk mi;ksx djsa 

(C) dsoy ,d MsVkcsl dk mi;ksx djsa 

(D) j.kuhfr dk ç;ksx u djsa 

70. Where is linear searching used? 
(A) When the list has only a few 
 elements 
(B) When performing a single 
 search in an unordered list 
(C) Used all the time 
(D) When the list has only a few 

elements and When 
performing a single search in 
an unordered list 

 70. jSf[kd [kkst dk mi;ksx dgk¡ fd;k tkrk 

gS\ 

(A) tc lwph esa dsoy dqN rRo gksa 

(B) vfu;af=r lwph esa ,dy [kkst djrs 

 le; 

(C) gj le; bLrseky fd;k 

(D) tc lwph esa dsoy dqN rRo gksrs gSa 

vkSj ,d vfu;af=r lwph esa ,dy 

[kkst djrs le; 
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71. If I want to find a definition for 

"semiotics" on Google, I should 

type: 

(A) Define: semiotics 

(B) Define = semiotics 

(C) Definition: semiotics 

(D) Define*semiotics 

 71. vxj eSa xwxy ij ^^lsehvksfVDl** dh 

ifjHkk"kk <wa<+uk pkgrk gwa] rks eq>s Vkbi djuk 

pkfg, % 

(A) ifjHkkf"kr % lsehvksfVDl 

(B) ifjHkkf"kr ¾ lsehvksfVDl 

(C) ifjHkk"kk % lsehvksfVDl 

(D) ifjHkkf"kr* lsehvksfVDl 

72. Why should you use a search 

strategy? 

(A) To focus your searching 

(B) To save you time when 

 searching databases 

(C) To ensure you will find 

 relevant material 

(D) All of the above 

 72. vkidks [kkst j.kuhfr dk mi;ksx D;ksa djuk 

pkfg,\ 

(A) viuh [kkst ij è;ku dsafær djus ds 

 fy, 

(B) MsVkcsl [kkstrs le; vkidk le; 

 cpkus ds fy, 

(C) ;g lqfuf'pr djus ds fy, fd 

 vkidks çklafxd lkexzh fey tk,xh 

(D) Åij ds lHkh 

73. Which search query below is best 

for finding pages referencing John 

Doe? 

(A) John doe 

(B) +john +doe 

(C) "john doe" 

(D) -"john doe" 

 73. t‚u Mks dks lanfHkZr djus okys i"̀Bksa dks 

[kkstus ds fy, uhps nh xbZ dkSu lh [kkst 

Dosjh lcls vPNh gS\ 

(A) t‚u Mks 

(B) $t‚u $Mks 

(C) ^^t‚u Mks** 

(D) &^^t‚u Mks** 
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74. If you wanted to search for 
documents with the words cancer, 
cancerous or cancers what would 
you type in the search box? 
(A) Cancer, cancerous OR cancers 
(B) Cancer, cancerous AND 
 cancers 
(C) Cancer* 
(D) Cancer AND cancerous AND 

cancers 

 74. ;fn vki dSalj] dSalj ;k dSalj 'kCnksa okys 
çys[kksa dh [kkst djuk pkgrs gSa rks vki 
[kkst c‚Dl esa D;k Vkbi djsaxs\ 
(A) dSalj] dSalj ;k dSalj 
(B) dSalj] dSalj vkSj dSalj 
(C) dSalj* 
(D) dSalj vkSj dSalj vkSj dSalj 

75. Which search strategy is also 
called as blind search? 
(A) Uninformed search 
(B) Informed search 
(C) Simple reflex search 
(D) All of the mentioned 

 75. fdl [kkst j.kuhfr dks CykbaM [kkst Hkh dgk 
tkrk gS\ 
(A) cs[k+cj [kkst 
(B) lwfpr [kkst 
(C) ljy çfrorZ [kkst 
(D) mfYyf[kr lHkh 

76. Indexing system developed by J.C. 

Sharp is known as: 

(A) KWIC 

(B) SMART 

(C) SLIC 

(D) NEPHIS 

 76. ts-lh- 'kkiZ }kjk fodflr vuqØe.k ç.kkyh 

ds :i esa tkuk tkrk gS % 

(A) fDod  

(B) LekVZ  

(C) ,l vy vkbZ lh  

(D) usfQl 

77. Number of steps involved in 

POPSI indexing are: 

(A) 6 

(B) 7 

(C) 8 

(D) 10 

 77. iksIlh vuqØe.khdj.k esa 'kkfey pj.kksa dh 

la[;k gSa % 

(A) 6 

(B) 7 

(C) 8 

(D) 10 
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78. The Cranfield project was 

conducted to: 

(A) Evaluated Indexing Systems 

(B) Evaluate Libraries 

(C) Evaluate Library Schools 

(D) Evaluate Classification 

Systems only 

 78. ØSuQhYM ifj;kstuk dks lapkfyr fd;k x;k 

Fkk % 

(A) ewY;kadu vuqØe.khdj.k ç.kkyh 

(B) iqLrdky;ksa dk ewY;kadu  

(C) iqLrdky; fo|ky;ksa dk ewY;kadu 

(D) dsoy oxÊdj.k ç.kkyh dk ewY;kadu 

79. Jonker’s Optical coincidence 

system demonstrated: 

(A) Uniterm Indexing 

(B) SLIC Indexing 

(C) KWIC 

(D) Automated Indexing 

 79. tksadj dh v‚fIVdy la;ksx ç.kkyh us 

çnf'kZr fd;k % 

(A) ;wfuVeZ baMsfDlax 

(B) ,l,yvkbZlh baMsfDlax 

(C) fDod  

(D) Lopkfyr vuqØe.khdj.k 

80. Roget’s International Thesaurus is 

a: 

(A) Book of synonyms 

(B) Classified list of words 

(C) List of Scientific terms 

(D) List of Standard terms 

 80. jkstsV dk varjkZ"Vªh; fFkl‚jl ,d gS % 

(A) lekukFkÊ dh fdrkc 

(B) 'kCnksa dh oxÊ—r lwph 

(C) oSKkfud 'kCnksa dh lwph 

(D) ekud 'krksZa dh lwph 

81. Concept of “Stop words”: 

(A) Uniterm indexing 

(B) Chain indexing 

(C) Keyword indexing 

(D) Subject indexing 

 81. ^^LV‚i oM~lZ** dh voèkkj.kk % 

(A) ;wfuVeZ baMsfDlax 

(B) Jà[kyk vuqØe.khdj.k 

(C) eq[; 'kCn vuqØe.khdj.k 

(D) fo"k; vuqØe.khdj.k 
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82. A version of KWIC augmented 

with author name is called: 

(A) WADEX 

(B) KWOC 

(C) KWAC 

(D) KWWC 

 82. ys[kd ds uke ds lkFk laofèkZr fDod ds ,d 

laLdj.k dks dgk tkrk gS % 

(A) okMsDl  

(B) Do‚d  

(C) Dosd  

(D) dOod 

83. KWIC indexing was developed 

mainly to facilitate: 

(A) Index to Chemical Abstracts 

(B) Printing Alphabetical Subject 

 Index by Computer 

(C) Information Retrieval 

(D) Uniterm Indexing 

 83. fDod vuqØe.khdj.k eq[; :i ls fodflr 

fd;k x;k Fkk % 

(A) jklk;fud lkj ds fy, lwpdkad 

(B) daI;wVj }kjk eqæ.k o.kkZuqØe fo"k; 

 vuqØe.khdj.k 

(C) lwpuk iquçkZfIr 

(D) ;wfuVeZ baMsfDlax 

84. Vocabulary in a database is 

controlled by: 

(i)  Thesaurus files  

(ii)  Import files  

(iii)  Standard files  

(iv)  Authority files 

Codes: 

(A) (i) and (ii) are correct. 

(B) (iii) and (iv) are correct. 

(C) (i) and (iii) are correct. 

(D) (ii) and (iii) are correct. 

 84. MsVkcsl esa 'kCnkoyh dks fu;af=r fd;k tkrk 

gS % 

(i) fFkl‚jl Q+kbysa  

(ii) vk;kr Q+kbysa  

(iii) ekud Q+kbysa  

(iv) çkfèkdj.k Q+kbysa 

dksM % 

(A) (i) vkSj (ii) lgh gSaA 

(B) (iii) vkSj (iv) lgh gSaA 

(C) (i) vkSj (iii) lgh gSaA 

(D) (ii) vkSj (iii) lgh gSaA 
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85. In which year the CD-ROM 

version of Chemical Abstracts and 

Indexes was started? 

(A) 1994 

(B) 1995 

(C) 1996 

(D) 1999 

 85. dsfedy ,CLVªSDV~l vkSj baMsDl dk 

lhMh&jkse laLdj.k fdl o"kZ esa 'kq: fd;k 

x;k Fkk\ 

(A) 1994 

(B) 1995 

(C) 1996 

(D) 1999 

86. Publication Frequency of the New 
York Time Index is: 
(A) Monthly 
(B) Annually 
(C) Semi- Monthly 
(D) Weekly 

 86. U;w;‚dZ Vkbe baMsDl  dh çdk'ku vkòfÙk gS% 

(A) eaFkyh  

(B) vuqvyh  

(C) lsfe eaFkyh  

(D) ohdyh 

87. The concept of concretes and 
processes was given by_________. 
(A) H.P. Luhn 
(B) Kaiser 
(C) S.R. Ranganathan 
(D) C.A. Cutter 

 87. daØhV vkSj çfØ;kvksa dh voèkkj.kk 

_________ }kjk nh xbZ FkhA 

(A) ,p- ih- yqgku  

(B) d+Slj  

(C) ,l-vkj- jaxukFku 

(D) lh- ,- dVj 

88. Ontology is_________. 

(A) An Indexing Method 

(B) Cataloguing of Internet based 

 in Documents 

(C) Classification of Internet 

 based in Documents 

(D) Documentation Service 

 88. vksUVksy‚th_________gSA 

(A) ,d vuqØe.k fofèk 

(B) nLrkost+ksa esa vkèkkfjr baVjusV dh lwph 

 cukuk 

(C) nLrkost+ksa ds vkèkkj ij baVjusV dk 

 oxÊdj.k 

(D) nLrkost+hdj.k lsok 
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89. Semantic web introducing by: 

(A) Ted Nelson 

(B) Tim Berners-Lee 

(C) Robert Hook 

(D) H.P. Luhn 

 89. flesafVd osc çLrqr fd;k x;k % 

(A) VsM usYlu 

(B) fVe cSjulZ&yh 

(C) j‚cVZ gqd 

(D) ,p ih yqgku 

90. Currently “Science Citation Index” 

is published by: 

(A) Thomson  

(B) Elsevier 

(C) Springer 

(D) Emerald 

 90. orZeku esa ^^lkbal lkbVs'ku baMsDl**fdlds 

}kjk çdkf'kr fd;k tkrk gS % 

(A) Fk‚elu 

(B) ,Ylsfo;j  

(C) fLçaxj  

(D) ,ejkYM 

91. Which one the following is/are 

meta-search engine? 

(A) Surfwax 

(B) Agri surf 

(C) Scirus 

(D) Magellan 

 91. fuEufyf[kr esa ls dkSu&lk@ls esVk&lpZ 

batu gS@gSa\ 

(A) lQ+ZoSDl 

(B) ,xzh lQZ 

(C) lkbjl 

(D) eSxyu 

92. Scirus: 
(A) Meta search engine 
(B) Subject specific search 
 engine 
(C) General search engine 
(D) Directory-based search engine 

 92. lkbjl % 

(A) esVk lpZ batu 

(B) fo"k; fof'k"V lpZ batu 

(C) lkekU; lpZ batu 

(D) funZsf'kdk&vkèkkfjr lpZ batu 
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93. Which one of the following is a 

post- coordinating indexing? 

(A) POPSI 

(B) PRECIS 

(C) Uniterm 

(D) Chain Indexing 

 93. fuEufyf[kr esa ls dkSu&lk ,d 

iksLV&dksv‚fMZusfVax baMsfDlax gS\ 

(A) iksIlh 

(B) çsfll  

(C) ;wfuVeZ 

(D) psu baMsfDlax 
94. Which one of the following is not 

an elementary category of POPSI? 

(A) Discipline 

(B) Energy 

(C) Action  

(D) Property 

 94. fuEufyf[kr esa ls dkSu iksIlh dh çkFkfed 

Js.kh ugha gS\ 

(A) fo"k;  

(B) ÅtkZ 

(C) dk;Z 

(D) laifÙk 
95. Who defined Indexing as “the 

process by which our information 

is collected and made accessible”? 

(A) J.O. Kaiser 

(B) C.A. Cutter 

(C) S.R. Ranganathan 

(D) D. Austin 

 95. fdlus baMsfDlax dks ifjHkkf"kr fd;k% ^^ml 

çfØ;k ds :i esa] ftlds }kjk gekjh 

tkudkjh ,d= dh tkrh gS vkSj mls lqyHk 

cuk;k tkrk gS** \ 

(A) ts-vks- dSlj 

(B) lh-,- dVj  

(C) ,l-vkj- jaxukFku 

(D) Mh v‚fLVu 

96. Which one of following uses the 
two line- three parts entry 
structure? 
(A) POPSI 
(B) PRECIS 
(C) KWIC 
(D) Chain Indexing 

 96. fuEufyf[kr esa ls dkSu nks iafä;ksa dk 

mi;ksx djrk gS& rhu Hkkx ços'k lajpuk\ 

(A) iksIlh 

(B) çsfll  

(C) fDod 

(D) psu baMsfDlax 
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97. Library and Information Science 

Abstracts published by: 

(A) Web of Science 

(B) Lexis Library 

(C) Proquest 

(D) Emerald 

 97. iqLrdky; vkSj lwpuk foKku lkj }kjk 

çdkf'kr % 

(A) osc v‚Q+ lkbal 

(B) ysfDll ykbczsjh 

(C) ç‚DosLV 

(D) ,ejkYM 

98. What is frequency of the Indian 
Science Abstracts published by 
NISCAIR? 
(A) Weekly 
(B) Semi-Monthly 
(C) Monthly 
(D) Bi-Monthly 

 98. fuLds;j }kjk çdkf'kr Hkkjrh; foKku lkj 

dk vkòfÙk D;k gS\ 

(A) lkIrkfgd 

(B) vèkZ ekfld 

(C) ekfld   

(D) f}ekfld 

99. Indexing and abstracting 
periodicals may be exhaustive or 
selective in coverage of literature 
depending upon the purpose: 
(A) Yes 
(B) No 
(C) Ambiguous statement  
(D) None of these  

 99. vuqØefudj.k vkSj lkjdj.k if=dk,¡ mís'; 

ds vkèkkj ij lkfgR; ds dojst esa  laiw.kZ 

;k p;ukRed gks ldrh gS % 

(A) gka 

(B) ugha 

(C) vLi”V dFku 

(D) buesa esa dksbZ ugha  

100. In which year “Science Citation 
Index (SCI)” published: 
(A) 1963 
(B) 1964 
(C) 1965 
(D) 1966 

 100. fdl o"kZ esa lkbal lkbVs'ku baMsDl 

¼,llhvkbZ½ çdkf'kr fd;k x;k % 
(A) 1963 
(B) 1964 
(C) 1965 
(D) 1966 

 

****** 
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Rough Work / jQ dk;Z 
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DO NOT OPEN THE QUESTION BOOKLET UNTIL ASKED TO DO SO 

1. Examinee should enter his / her roll number, subject and Question Booklet 

Series correctly in the O.M.R. sheet, the examinee will be responsible for 

the error he / she has made. 

2. This Question Booklet contains 100 questions, out of which only 75 

Question are to be Answered by the examinee. Every question has 4 

options and only one of them is correct. The answer which seems 

correct to you, darken that option number in your Answer Booklet 

(O.M.R ANSWER SHEET) completely with black or blue ball point 

pen. If any examinee will mark more than one answer of a particular 

question, then the first most option will be considered valid.   

3. Every question has same  marks. Every question you attempt correctly, 

marks will be given according to that. 

4. Every answer should be marked only on Answer Booklet (O.M.R 

ANSWER SHEET).Answer marked anywhere else other than the 

determined place will not be considered valid. 

5. Please read all the instructions carefully before attempting anything on 

Answer Booklet(O.M.R ANSWER SHEET). 

6. After completion of examination please hand over the Answer Booklet 

(O.M.R ANSWER SHEET) to the Examiner before leaving the 

examination room.   

7. There is no negative marking. 

Note: On opening the question booklet, first check that all the pages of the 

question booklet are printed properly in case there is an issue please ask the 

examiner to change the booklet of same series and get another one.  


